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mÙkj izns’k jktf"kZ V.Mu eqDr fo’ofo|ky;] bykgkckn 

 vf/kU;kl (Assignment)  2012-2013 

Lukrd dyk dk;ZØe …,e-,-‰ 

Master of Arts Programme (M.A.) 

fo"k; % vFkZ’kkL=k fo"k; dksM % ,e-,-bZ-lh- 

Subject : Economics Subject Code : MAEC 
dkslZ ’kh"kZd % vkfFkZd fl)kUr dkslZ dksM % ,e-,-bZ-lh--01 
Subject Title : Economical Theory Course Code : MAEC-01 

vf/kdre vad    % 30 
Maximum Marks : 30 

Section - A 

[k.M & v 

vf/kdre vad    % 18 
Maximum Marks : 18 

 uksV % nh?kZ mÙkjh; iz’uA vius iz’uksa ds mÙkj 800 ls 1000 ’kCnksa esa 
fy[ksaA lHkh iz’u vfuok;Z gSaA 

 Note :  Long Answer Question. Answer should be given in 800 to 
1000 words. Answer all questions. All questions are 
compulsory. 

 1. ekax ds fu;e D;k gSa\ ekax dks izHkkfor djus okys rRo D;k  

gSa\ 6 
  What is Law of Demand? What are the factors that influence 

Demand. 
 2.  fjdkMksZa ds fl)kUr dk vkykspukRed vkadu djsaA 6 
  Critically Evaluate Riccardo Theory. 
 3. ,dkf/kdkj izfr;ksfxrk D;k gS\ blds vUrxZr dher fu/kkZj.k 

fdl izdkj fd;k tkrk gS\ 6 

  What is monopoly competition? How is price determined 
under monopoly competition. 

Section - B 

[k.M & c 

vf/kdre vad    % 12 
Maximum Marks : 12 

 uksV % y?kq mÙkjh; iz’uA vius iz’uksa ds mÙkj 200 ls 300 ’kCnksa esa 
fy[ksaA lHkh iz’u vfuok;Z gSaA 

 Note :  Short Answer Question. Answer should be given in 200 to 
300 words. Answer all questions. All questions are 
compulsory. 

 4. rVLFkrk oØ D;k gS\ 2 
  What is indiference curve? 
 5. ykHk ds fl)kUr D;k gSa\ 2 
  What are the principles of profit. 
 6. yxku ds izdkj crk;saA 2 
  What are the diferent types of Rent. 
 7. C;kt ds fl)kUr D;k gSA\ 2 
  What are the Principles of interest? 
 8. ekax iwokZuqeku ds mn~ns’; D;k gSa\ 2 
  What are the objective of demand forecasting. 
 9. nh?kZdky esa QeZ dk mn~ns’; D;k gS\ 2 
  What the objectives of firm in long term. 

 
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mÙkj izns’k jktf"kZ V.Mu eqDr fo’ofo|ky;] bykgkckn 

 vf/kU;kl (Assignment)  2012-2013 
LukrdksÙkj dyk dk;ZØe …,e-,-‰ 

Master of Arts Programme (M.A.) 

fo"k; % vFkZ’kkL=k fo"k; dksM % ,e-,-bZ-lh- 

Subject : Economics Subject Code : MAEC 
dkslZ ’kh"kZd % vkfFkZd fl)kUr-II dkslZ dksM % ,e-,-bZ-lh--02 
Subject Title : Economical Theory-II Course Code : MAEC-02 

vf/kdre vad    % 30 
Maximum Marks : 30 

Section - A 

[k.M & v 

vf/kdre vad    % 18 
Maximum Marks : 18 

 uksV % nh?kZ mÙkjh; iz’uA vius iz’uksa ds mÙkj 800 ls 1000 ’kCnksa esa 
fy[ksaA lHkh iz’u vfuok;Z gSaA 

 Note :  Long Answer Question. Answer should be given in 800 to 
1000 words. Answer all questions. All questions are 
compulsory. 

 1. Hkkjr dh jk"V“h; vk; dh x.kuk esa dfBukb;ka ;k lhek,a  

fy[ksaA 6 
  Write difficulties or limitations in measurement of National 

Income of India. 
 2. Rojd ds vFkZ rFkk bldh dk;Z’khyrk dh O;k[;k dhft,A 

bldh lhek,a dkSu lh gSa\ 6 
  Explain the meaning and working of Acceleration : what are 

its limitations? 

 3. iwath dh lhekUr {kerk ls vki D;k lea>rs gSa\ bldk 

fofu;ksx& izsj.kk ij D;k izHkko iM+rk gS\ 6 
  What do you understand by 'Marginal efficiency of capital'? 

How does it affect inducement of invest'? 
Section - B 

[k.M & c 

vf/kdre vad    % 12 
Maximum Marks : 12 

 uksV % y?kq mÙkjh; iz’uA vius iz’uksa ds mÙkj 200 ls 300 ’kCnksa esa 
fy[ksaA lHkh iz’u vfuok;Z gSaA 

 Note :  Short Answer Question. Answer should be given in 200 to 
300 words. Answer all questions. All questions are 
compulsory. 

 4. dsUnzh; cSad ds eq[; dk;ksZa dk Li"Vhdj.k dhft,A vkSj dsUnzh; 

cSafdax dh rqyuk okf.kT; cSafdx ls dhft,A 2 
  Explain the principal fuction of a Central Bank and Compare 

Central banking with commercial banking. 
 5. L̂Qhfrd vUrj* dh /kkj.kk Li"V dhft,A D;k ;g vkykspuk ls 

eqDr gS\ 2 
  Explain the concept "Inflationary Gap'. Is it free from 

criticism? 
 6. dsUl ds O;kikj& pØ lEcU/kh fopkjksa dh vkykspukRed O;k[;k 

dhft,A 2 
  Give a critical account of Keynes's views on trade cycles. 
 7. eqnzk dh ekax okLrfod ’ks"kksa dh ekax gSaA foospuk dhft,A 2 
  The demand for money is a demand for real balances. 

Discuss. 
 8. izn’kZudkjh izHkko ij laf{kIr fVIi.kh fyf[k;sA 

  Write a short note on demonstration effect. 
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 9. vk; forj.k dk iz’u vkn’kZ mRiknu ds iz’u ls rdkZuqlkj igys 

mRiUu gksrk gSA …vkbZ-,e-Mh- fyVy‰ O;k[;k dhft,A 2 
  The question of income distribution is logically prior to the 

question of the ideal output. (I.M.D. Little) discus. 
 
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mÙkj izns’k jktf"kZ V.Mu eqDr fo’ofo|ky;] bykgkckn 

 vf/kU;kl (Assignment)  2012-2013 

LukrdksÙkj dyk dk;ZØe …,e-,-‰ 

Master of Arts Programme (M.A.) 

fo"k; % vFkZ’kkL=k fo"k; dksM % ,e-,-bZ-lh- 

Subject : Economics Subject Code : M.A.E.C. 
dkslZ ’kh"kZd % lkoZtfud vFkZ’kkL=k dkslZ dksM % ,e-,-bZ-lh--03 
Subject Title : Public Economics Course Code : MAEC-03 

vf/kdre vad    % 30 

Maximum Marks : 30 

Section - A 

[k.M & v 

vf/kdre vad    % 18 

Maximum Marks : 18 

 Note :  Long Answer Question. Answer should be given in 800 to 
1000 words. Answer all questions. All questions are 
compulsory. 

 uksV % nh?kZ mÙkjh; iz’uA vius iz’uksa ds mÙkj 800 ls 1000 ’kCnksa esa 
fy[ksaA lHkh iz’u vfuok;Z gSaA 

 1. Discuss the different canons of taxations. 6 

  djkjksi.k ds fofHkUu fl)karksa dh foospuk dhft,A 

 2. Clarify the Public Expenditure in Welfare State.  6 

  dY;k.kdkjh jkT; esa yksd O;; dks Li"V dhft,A 

 3. Throw Light on the problems of public debt management in 
developing countries.  6 

  fodkl’khy ns’kksa esa yksd _.k izcU/k dh leL;kvksa ij izdk’k 

Mkfy;sA  

Section - B 

[k.M & c 

vf/kdre vad    % 12 
Maximum Marks : 12 

 Note :  Short Answer Question. Answer should be given in 200 to 
300 words. Answer all questions. All questions are 
compulsory. 

 uksV % y?kq mÙkjh; iz’uA vius iz’uksa ds mÙkj 200 ls 300 ’kCnksa esa 
fy[ksaA lHkh iz’u vfuok;Z gSaA 

 4. Discuss the characteristics of social goods.  2 
  lkekftd oLrqvksa dh fo’ks"krkvksa ds crkb;sA 

 5. Explain the concept of Balanced Budget multiplier.  2 
  larqfyr ctV xq.kd vo|kj.kk dh O;k[;k dhft,A 

 6. Write a note on double Taxation.  2 
  nksgjs djkjksiM+ ij fVIi.kh fyf[k,A 

 7. Explain the principle of Federal Finance.  2 
  la?kh; foRr ds fl)karksa dh foospuk dhft,A 

 8. What do you understand by Taxable capacity?  2 
  djnku {kerk ls vki D;k le.rs gSa\ 

 9. Discuss the Fiscal-Reform in India.  2 
  Hkkjr esa jktdks"kh; lq/kkjksa dh foospuk dhft,A 
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mÙkj izns’k jktf"kZ V.Mu eqDr fo’ofo|ky;] bykgkckn 

 vf/kU;kl (Assignment)  2012-2013 
ijkLukrd dyk dk;ZØe 

Post Graduate Art Programme 

fo’k; % vFkZ”kkL= 

Subject Economics 
dkslZ “kh’kZd %  

Course Title : Quantitative Method  

fo’k; dksM% ,e0,0bZ0lh0 

Subject Code : MAEC  
dkslZ “kh’kZd % ,e0,0bZ0lh0&04 

Course Code : MAEC-04 
vf/kdre vad    % 18 
Maximum Marks : 18 

             Maximum Marks:30 
Section - A 
[k.M & v  

      vf/kdre vad % 18 

vf/kdre vad    % 18 
Maximum Marks : 18 

          Max. Marks:18 
uksV % nh?kZ mRrjh; iz”uA vius iz”uksa ds mRrj 800 ls 1000 “kCnksa esa fy[ksaA lHkh iz”u 

vfuok;Z gSA  

Note : Long answer questions. Answer should be given in 800 to 1000 
words.  

           Each question carry equal marks.  
   

1. lglEcU/k dk vFkZ Li’V dhft,A /kukRed rFkk _.kkRed lglEcU/k esa Hksn 
crkb,A lglEcU/k dk v/;;u djus dh dkSu&dkSu lh fofHkUu jhfr;k¡ gS\ 

Explain the meaning of correlation? Distinguish between 
positive and negative correction. What are the various methods of 
studying correlation.    

   
2. dky Js.kh D;k gS\ nh?kZdkyhu izof̀Rr] ekSleh fopj.kksa rFkk pØh; fopj.kksa esa vUrj 

dhft,A fdUgha fn, x, ledksa esa vki nh?kZdkyhu izof̀Rr dk eki fdl izdkj 
djsaxs\  

 What is time series? Distinguish between secular trend, seasonal 
variations and cyclical fluctuation. How would you measure secular 
trend in any given date?   

3.  ;fn fdlh QeZ dk dqy ykxr Qyu 32

3
153010 xxxC +−+= gks tgk¡ 

x  mRiknu dh ek=k gS vkSj oLrq dh dher : 6 izfr bdkbZ gSA mRiknu dh fdl 
ek=k Hkkx ij QeZ dk ykHk vf/kdre gksxk\ vf/kdre ykHk dh ek=k dks Hkh crk;sA 
 6 

If the total cost function of a firm is 
32

3
153010 xxxC +−+= Where x  is output and price of the 

output is Rs 6 per unit. At what output level profit of the firm will 
be maximum. Also calculate the amount of maximum profit level  

 
[k.M & c 

Section – B 
vf/kdre vad    % 18 
Maximum Marks : 18 

uksV % y?kq mRrjh; iz”uA vius iz”uksa ds mRrj 200 ls 300 “kCnksa esa fy[ksaA lHkh iz”u 
vfuok;Z gSA  

Note : Short answer questions. Answer should be given in 200 to 300 
words.  

           Each question carry equal marks.  
 

4-          vodyu dhft,A Differentiate the following   
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1

x
y

−
=          

5-       ;fn ek¡x Qyu 
2200 Pq −=  gS] rks dher 2=P ij ek¡x dh yksp   

                Kkr \ 
          dhft,A        2 

If the demand function is 
2200 Pq −=  then find out 

elasticity of demand at 2=P  

6- ;fn ekax oØ 22333 xxP −−=  gks vkSj 30 =x bdkbZ gks rc 

miHkksDrk dh cpr Kkr djksaA      2 

 If the demand curve is 22333 xxP −−=  and  30 =x  Units 
then calculate consumer surplus (C.S.)       

7- 
1−A  Kkr dhft, ;fn  








=

24
32

A    2 

Calculate 1−A  if 







=

24
32

A   

8- iz”ukoyh D;k gS\ ,d vPNh iz”ukoyh ds vko”;d xq.k dkSu&dkSu ls gS\ 2 

What is Question naire? What are the essentials of a good 
question nair? 

 

9- fuEu leadksa ls e/;dk¼M½ rFkk cgqyd¼Z½ dk fu/kkZj.k dhft,A    2 

Determine the mediam and Mode of the following data.  
 8,5,8,7,6,8,9,7,8,11,12,10=X  
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                                                          200 
mÙkj izns’k jktf"kZ V.Mu eqDr fo’ofo|ky;] bykgkckn 

 vf/kU;kl (Assignment)  2012-2013 

LukrdksRrj dyk dk;ZØe ¼,e0,½ 
Master of Arts Programme (M.A) 

 
fo’k; % vFkZ”kkL=  
Subject: Economics 
dkslZ “kh’kZd % vUrjkZ’Vªh; vFkZ”kkL= 
Subject Title :   International 

Economics 

fo’k; dksM% ,e0,0bZ0lh0 
Subject : MAEC 

dkslZ dksM% 
,e0,0bZ0lh0&05 

Course Code : MAEC-5 
vf/kdre vad    % 18 
Maximum Marks : 18 

             Maximum Marks:30 
Section - A 
[k.M & v  

vf/kdre vad    % 18 
Maximum Marks : 18 

         Max. Marks:1 

uksV % nh?kZ mRrjh; iz”uA vius iz”uksa ds mRrj 800 ls 1000 “kCnksa esa fy[ksaA 
lHkh iz”u vfuok;Z gSA  

Note : Long Answer Questions. Answer should be given in 800 to 1000 
words. All questions are compulsory.  

 
1. Explain the Recardiar theory of International trade with suitable 

examples and discuss its assumptions.   
 vUrjkZ’Vªh; O;kikj ds fjdkMksZ ds fl)kUr dh lksnkgj.k O;k[;k djrs 

gq, bldh ekU;rkvksa dks Li’V dhft,A 
 
2. What do you understand by monetary devaluation on International 

trade of any country.  
fdlh ns”k dh eqnzk ds voewY;u dk ml ns”k ds vUrjkZ’Vªh; 

O;kikj ij D;k izHkko iM+rk gSA   
 

3. At what extent world Bank and its affiliating bodies achieved their 
fulfillment of objectives.  

 fo”o cSad vkSj bldh lEc) laLFkk;sa vius mn~ns”;ksa dh iwfrZ esa dgka 
rd lQy jgh gSA  

                          
                       [k.M & c 

Section – B 
vf/kdre vad    % 18 
Maximum Marks : 18 

  

Note : Short answer questions. Answer should be given in 200 to 300 
words.  

           All questions are compulsory.   
uksV % y?kq mRrjh; iz”uA vius iz”uksa ds mRrj 200 ls 300 “kCnksa esa fy[ksaA  

lHkh iz”u vfuok;Z gSA  
 
4-    Explain the contemporary tendencies of India’s foreign trade.        2 
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5-    What are the important terms for the success of devaluation?   
      voewY;u dh lQyrk dh vko”;d “krsZ D;k gS\     2 

6-     What do you understand by Offer Curve?       
       vi.kZ oØ ls vki D;k le>rs gS\        2 

7-     Throw light on real cost terms of trade with the help of formula.   
      lw=ksa ds ek/;e ls okLrfod ykxr O;kikj dh “krksaZ ij izdkkMkfy;sA

           2 
8-     Explain Reciprocal Demand. 
      izfriwjd ekax dh O;k[;k djasA        2 

9-  Analyse the General Equililirium.     
lkekU; lkE; dk fo”ys’k.k dhft,A         2 

 

         mÙkj izns’k jktf"kZ V.Mu eqDr fo’ofo|ky;] 

bykgkckn 

 vf/kU;kl (Assignment)  2012-2013 

LukrdksÙkj dyk dk;ZØe …,e-,-‰ 

Master of Arts Programme (M.A.) 

                                              
┘efJe<e e : DeLe&Meeîe  Γ┘efJe<e e ke es[ : Sce.S.F&.meer. 

SUBJECT : Economics SUBJECT CODE : MAEC 

Γ Γ Γ Γ┘ke esme& Meer<e&ke  : Yeejleer e DeLe&Meeîe ke e efJeke eme ke esme& ke es[ :Γ Γ  Sce.S.F&.meer.-06 

COURSE TITLE :  COURSE CODE : MAEC-
06      

 

vf/kdre vad    % 18 
Maximum Marks : 18 

 
Section-'A' 
KeC[-æke ÆΓ  

vf/kdre vad    % 18 
Maximum Marks : 18 

veesÜ : ≥ Γ ≥┘ ╪ ╪oerIe& G ejer e eMve~ eMveeW kes  Deheves G ej 800 mes 1000 MeyoeW ceW efueKes~ meYeer 
╪ ┘eMve DeefveJee e& nw~  

NOTE : Long Answer Questions. Answer should be given in 800 to 1000 
Words. Answer All Questions. 

 

1.   Discuss new Strategy of agriculture in lndia. Evaluate its success. 6 
      Γ Γ Γ Γ Γ┘ █Yeejle ceW ke= ef<e ke er veJeerve J etnj evee ke e JeCe&ve ke erefpeS~ Fmeke er mehe uelee ke e Γ Γ

Γ Γ┘cetu eebke ve ke erefpeS~ 
2. Explain the effects of population growth and production- level of India. 6 
    Γ Γ┘pevemebK ee Je=efµ ke e Yeejle kes  Glheeove- mlej leLee jespeieej- ╪ ┘mlej hej eYeeJe mecePeeF es~ 

3.     Explain the need and contribution of economic planning for the econmic  
development of India. 6 

     Γ Γ Γ Γ Γ Γ┘ ┘ ┘Yeejle kes  DeeefLe&ke  efJeke eme nsleg DeeefLe&ke  efve eespeve ke er DeeJeM eke lee leLee eesieoeve 
┘mecePeeF es~ 

 
                                                                   
                                                                      Section-'B' 

KeC[-æKeÆ 

vf/kdre vad    % 18 
Maximum Marks : 18 

 

veesÜ : ≥ Γ ≥┘ ╪ ╪ueIeg G ejer e eMve~ eMveeW kes  Deheves G ej 200 mes 300 MeyoeW ceW efueKes~ meYeer 
╪ ┘eMve DeefveJee e& nw~  

NOTE : Short Answer Questions. Answer should be given in 200 to 300 Words. 
Answer All Questions. 

 

4.     Explain the concept of heavy Industry. 2 
 Γ┼ ┘ ┘ææYeejer G eesieÆÆ ke e DeeMe e mecePeeF es~       
5]  What dangers are implied increase in public expendeture? 2 

 Γ Γ Σ┘┘ ┘ueeske  J e eeW kes  ye{veW ceW ke ee Kelejs efveefnle nQ~ 
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6] Why is vicious circle of poverty an obstacle in economic development? 2 

 Γ Γ Γ Γ Σ█ ┘æefveOe&velee ke e ogM e¢e Æ DeeefLe&ke  efJeke eme ceW ke eeW yeeOee nw~ 

7] Distinguish between direct tax and indirect tax. 2 

 Γ Γ Γ╪ ┘ ╪ ┘el e#e ke j Deewj De el e#e ke j ceW Yeso ke erefpeS~ 

8] Explain the meaning objectives and benefits of a buffer stock. 2 

 Γ Γ Γ┘ ┘ ┘Ske  ææmegjef#ele YeC[ejCeÆÆ ke e DeLe&, G÷sM e SJeb ke e e& mecePeeF es~ 

9] Write a note on problem of parallel economy or black money in India. 2 

 Γ Γ┘ ┘ ┘Yeejle ceW meeceeeveevlej DeLe&J eJemLee ee ke eues Oeve hej Ske  uesKe efueefKe es~ 
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                                                          202 
mÙkj izns’k jktf"kZ V.Mu eqDr fo’ofo|ky;] bykgkckn 

 vf/kU;kl (Assignment)  2012-2013 

LukrdksÙkj dyk dk;ZØe …,-,e-‰ 

Master of Arts Programme (M.A.) 

fo"k; % vFkZ’kkL=k fo"k; dksM % ,e-,-lh- 

Subject : Economics Subject Code : MAC 
dkslZ ’kh"kZd % Je vFkZ’kkL=k dkslZ dksM % ,e-,-lh--07 
Subject Title : Labour Economics Course Code : MAEC-07 

vf/kdre vad    % 30 
Maximum Marks : 30 

[k.M & v 

Section - A 

vf/kdre vad    % 18 
Maximum Marks : 18 

 uksV % nh?kZ mÙkjh; iz’uA vius iz’uksa ds mÙkj 800 ls 1000 ’kCnksa esa 
fy[ksaA lHkh iz’u vfuok;Z gSaA 

 Note :  Long Answer Question. Answer should be given in 800 to 
1000 words. Answer all questions. All questions are 
compulsory. 

 1. Hkkjr ds ^Je la?k* vkUnksyu ij la{ksai esa fyf[k;sA vkt ds 

cktkj O;oLFkk iz.kkyh esa vki budk D;k Hkfo"; ns[krs gSa 

le>kb;sA 6 
  Write in brief on the trade union movement in India in 

today's Market economy system what future you find for 
Trade Union? Explain. 

 2. U;wure etnjwh mfpr etnwjh ,oa fuokZg etnwjh D;k gS\ 

crkb;sA 6 
  What are minimum wage fair wage and living wage  Explain. 
 3. Je ’kfDr fu;kstu ls vki D;k le>rs gSa\ le>kb;sA 6 
  What do you understand by Man Power Planning \ Explain 

[k.M & c 

Section - B 

vf/kdre vad    % 12 
Maximum Marks : 12 

 uksV % y?kq mÙkjh; iz’uA vius iz’uksa ds mÙkj 200 ls 300 ’kCnksa esa 
fy[ksaA lHkh iz’u vfuok;Z gSaA 

 Note :  Short Answer Question. Answer should be given in 200 to 
300 words. Answer all questions. All questions are 
compulsory. 

 4. Hkkjr esa vkS|ksfxd fooknksa ds D;k izeq[k dkj.k gSa\ Li"V  

djsaA 2 
  What are main reasons of Industrial Disputes in India? 

Explain. 
 5. etnwjh fHkUurk ls vki D;k le>rs gSa\ foospuk dhft,A 2 
  What do you understand by Wage diferentials.  Explain 
 6. Je dk iwfrZ oØ D;ksa foijhr >qdk gksrk gSA foospuk dhft,A 2 
  Why the supply curve of Labour in backword sloping? 

Explain 
 7. etnwjh dh lhekUr mRikndrk fl)kUr dh O;k[;k dhft,A 2 
  DFiscuss the marginal productivity theory of wages. 
 8. Hkkjr esa csjkstxkjh dh izd‘fr ,oa foLrkj dh O;k[;k dhft,A 2 
  Discuss the nature and extent of unemployment in India. 
 9. vUrjkZ"V“h; Je laxBu (I.L.O.) ds mn~ns’;ksa dh O;k[;k  

dhft,A 2 
  Explain the objectives of I.L.O. 

 
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                                          203 

mÙkj izns’k jktf"kZ V.Mu eqDr fo’ofo|ky;] bykgkckn 

 vf/kU;kl (Assignment)  2012-2013 

LukrdksÙkj dyk dk;ZØe …,e-,-‰ 

Master of Arts Programme (M.A.) 

fo"k; % vFkZ’kkL=k fo"k; dksM % ,e-,-bZ-lh- 

Subject : Economics Subject Code : MAEC 
dkslZ ’kh"kZd % {ks=kh; vFkZ’kkL=k dk  dkslZ dksM% ,e-,-bZ-lh--08  
 fodkl ,oa fu;kstu 
Subject Title : Development and Planning Course Code : MAEC-08  
 of Regionasl Economics 

vf/kdre vad    % 30 
Maximum Marks : 30 

Section - A 
[k.M & v 

vf/kdre vad    % 18 
Maximum Marks : 18 

 uksV % nh?kZ mÙkjh; iz’uA vius iz’uksa ds mÙkj 800 ls 1000 ’kCnksa esa 
fy[ksaA lHkh iz’u vfuok;Z gSaA 

 Note :  Long Answer Question. Answer should be given in 800 to 
1000 words. Answer all questions. All questions are 
compulsory. 

 1. {ks=kh; fo"kerk dh O;k[;k dhft,A {ks=kh; fo"kerk dks nwj djus 

dh uhfr dh O;k[;k dhft,A 6 
  Explain the regional disparity. Discuss policy measures to 

remove regional disparaties. 

 2. feMZy ds pØh; dk;Zdkj.k fl)kUr dh vkykspukRed O;k[;k 

dhft,A 6 
  Critically examine the Myrdal's Theory of the cumulative 

causation. 
 3. Hkkjr ds izeq[k izkd‘frd lalkk/kuksa dks Li"V dhft,A Hkkjr ds 

fofHkUu jkT;ksa esa bu lalk/kuksa dh izeq[krk crkb;sA 6 
  Explain Principal Natural resources of India. Highlight 

allocation of these resources among the State sof India. 
Section - B 

[k.M & c 

vf/kdre vad    % 12 
Maximum Marks : 12 

 uksV % y?kq mÙkjh; iz’uA vius iz’uksa ds mÙkj 200 ls 300 ’kCnksa esa 
fy[ksaA lHkh iz’u vfuok;Z gSaA 

 Note :  Short Answer Question. Answer should be given in 200 to 
300 words. Answer all questions. All questions are 
compulsory. 

 4. ,dkf/kdkj D;k gS\ ,dkf/kdkj esa dher vkSj mRiknu dk 

fu/kkZj.k fd;k izdkj gksrk gS\ 2 
  What is Monopoly | How are price and output determined 

under monopoly? 
 5. Hkkjr esa {ks=kh; vkfFkZd fu;kstu dh O;k[;k dhft,A 2 
  Define regional development planning in India. 
 6. Hkkjr esa d‘f"k ,oa d‘f"k uhfrA 2 
  Agriculture and Agriculture Policy in India. 
 7. Hkkjr dh ;kstuk,a  vkfFkZd fodkl o lkekftd vU;k;  2 
  Economic Growth and Social Injustice in Indian Plans. 
 8. g’kZeSu dk fl)kUr 2 
  Hirschman's Principle. 
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 9. lkE;koLFkk ,oa vlkE;koLFkk fl)kUr D;k gS\ foospuk  

dhft,A 2 
  What is equilibrium and dis-equlibrium principle? Exp 
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